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;
<�	 Collector-Base Voltage 60 V 

;
��	 Collector-Emitter Voltage 50 V 

;�<�	 Emitter-Base Voltage 7 V 

�
	 Collector Current -Continuous 150 mA 

�
	 Collector Power Dissipation 150 mW 

��	 Junction Temperature 150 � 
���0	 Storage Temperature -55-150 � 
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%��#��%$�3��#	3$#�/,%1 	>%���0#	 	 V(BR)CBO IC=50�A,IE=0 60   V 


%��#��%$�#2���#$	3$#�/,%1 	>%���0#	 	 V(BR)CEO IC=1mA,IB=0 50   V 

�2���#$�3��#	3$#�/,%1 	>%���0#	 V(BR)EBO IE=50�A,IC=0 7   V 


%��#��%$	�"��%44	�"$$# �	 	 ICBO VCB=60V,IE=0   0.1 �A 

�2���#$	�"��%44	�"$$# �	 	 IEBO VEB=7V,IC=0   0.1 �A 

�
	�"$$# �	0�� 	 	 hFE VCE=6V,IC=1mA 180  390  


%��#��%$�#2���#$	���"$���% 	>%���0#	 VCE(sat) IC=50mA,IB=5mA   0.4 V 

�$� ����% 	4$#?"# �.	 fT VCE=12V,IC=2mA,f=100MHz  180  MHz


%��#��%$	%"�!"�	��!����� �#	 Cob VCB=12V,IE=0,f=1MHz   3.5 pF 
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Dual Transistors (NPN+NPN)
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�"!!�.	>%���0#	 VCC 50 V 

� !"�	>%���0#	 VIN -10~40 V 

IO 50 
�"�!"�	�"$$# �	

IC(MAX) 100 
mA 

�%1#$	,����!���% 	 PC 150 mW 

�" ���% 	�#2!#$��"$#	 Tj 150  

��%$�0#	�#2!#$��"$#	 Tstg -55~150  
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VI(off)��������������������� 0.5 VCC=5V ,IO=100�A 
� !"�	>%���0#	

VI(on) ������������������������������������������3   
V 

VO=0.3V ,IO=10 mA 

�"�!"�	>%���0#	 VO(on)   0.3 V IO/II=10mA/0.5mA 

� !"�	�"$$# �	 II   0.88 mA VI =5V 

�"�!"�	�"$$# �	 IO(off)   0.5 �A VCC=50V, VI=0 

�
	�"$$# �	0�� 	 GI 30    VO=5V ,IO=5mA 

� !"�	$#����� �#	 R1 7 10 13 K�  

�#����� �#	$���%	 R2/R1 0.8 1 1.2   

�$� ����% 	4$#?"# �.	 fT  250  MHz VO=10V ,IO=5mA,f=100MHz 
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